HZPOTRI-X KK KRE2008FERFH K

ZF100mBEF
TR B0 Bt #H class JIE {5z K4 B[]
= 100m EEEA 75 1 ABE BEF 1:39.33
= 100m BHEf 75 2 EXR EKF 2:26.34
S 100m BHE 70 1 BRIl BF 1:36.95
S 100m BHEf 70 2 WH EAF 1:38.76
=S 100m BHEf 70 3 REr AT 1:39.15
S 100m BHEf 70 4 o ®BF 1:39.62
= 100m BHEf 70 5 [ RAY 1:40.06
S 100m BHEf 70 6 ENG e 1:40.47
= 100m BHE 70 7 EH =¥ 1:40.79
S 100m BHEf 70 8 =H BF 1:59.24
=z 100m BHER 70 KKk =R VNIR [ R ZIE
= 100m BHEf 65 1 $H B 1:22.04
S 100m BHER 65 2 Bk N\EF 1:40.07
= 100m BHEf 65 3 WH £K=E 1:42.67
= 100m BHE 65 4 BE EF 1:43.29
S 100m BHE 65 5 £H HF 1:48.70
= 100m BHEf 65 6 WH &F 1:48.92
S 100m BHEf 65 7 & HF 1:59.50
= 100m BHER 65 8 XE WF 2:18.75
= 100m 2 65 okok FiE =F ZIE
= 100m EEA 60 1 FE BT 1:24.37
S 100m BHEf 60 2 WE YT 1:32.87
=S 100m BHE 60 3 NHE BF 1:33.70
= 100m EEE 60 ook WA ZIE
S 100m BHE 55 1 TR LZ\DOH 1:23.69
= 100m BHEf 55 2 Tk lBF 1:24.54
S 100m BHEf 55 3 tE &L 1:29.29
S 100m BHEf 55 4 mK HEF 1:29.70
= 100m BHEf 55 5 B W 1:30.16
S 100m BHEf 55 6 WH EEF 1:30.51
S 100m BHEf 55 7 a8 1LF 1:33.17
= 100m BHE 55 8 AIE =F 1:34.00
S 100m BHEf 55 9 5H {EFF 1:34.70
= 100m BHE 55 10 WHE B 1:37.65
S 100m BHEf 55 11 INE BhEZ 1:39.19
= 100m BE# 55 *okok Eif B ZE
T 100m BH* 55 Fokok R BEF ZHE
S 100m BHE 50 1 HR EF 1:19.44
S 100m BHER 50 2 KEF HF 1:19.89
S 100m BHER 50 3 =i BF 1:20.04
S 100m BHE 50 4 XH &AF 1:21.57
= 100m BHE 50 5 T HF 1:24.06
S 100m BHE 50 6 EiE EH5F 1:26.42
S 100m BHEf 50 7 Ak NEF 1:32.39
= 100m BHE 50 8 X¥F EF 1:53.06
= 100m EEA 50 ook Wi L\OH ZIE
= 100m BHER 45 1 sk FhE 1:11.33
= 100m BHEf 45 2 Ewh‘ E=F 1:18.99
S 100m BHER 45 3 =H AF 1:20.58
S 100m BHEf 45 4 ®IEF 1:21.36
= 100m BHER 45 5 12k AF 1:22.19
S 100m BHER 45 6 $B/A FIF 1:23.38
= 100m BHEf 45 7 Kk #EF 1:25.80
= 100m BHER 45 8 % IS 1:27.57
= 100m BHER 45 9 D Rk 1:33.14
S 100m BHEf 45 10 ol EZE 1:35.94
S 100m BHEf 45 11 hiE EF 1:36.60
= 100m EELA 45 12 RER T8 1:40.60




s 100m L2 45 13 REF APE
s 100m L2 45 14 BE X&E
S 100m BHEf 40 1 ARER A
£ 100m EELE 40 2 Tk RF
ES 100m B 40 3 BEEH =H
S 100m EEEA 40 4 INMR IHER
S 100m EESA 40 5 A &#E
= 100m 2 40 6 it ==
=S 100m EE2 40 okok BlE jEF
S 100m BH¥ 40 *okk INE FE&E
= 100m L2 35 1 NS
= 100m L2 35 2 FH H»db
= 100m EESE 35 3 AKX TLE
= 100m B 35 4 miE EREF
Z 100m BHE¥ 35 5 L5 BRF
S 100m B 30 1 AT FEALK
S 100m B 30 2 5H #%F
Z 100m BHE¥E 30 3 B &F
S 100m B 30 4 EE =8
= 100m EESA 30 ook Mk RS
= 100m EEA 30 koK ZiE HEER




BF100mBEMHEKE

T Rl 0 Bt EH class JIE {3z K4
[ 100m 2 80 1 f£HF BE—
2 100m BH# 80 2 WNITRE S
H 100m BHEf 75 1 R Rl
(2 100m EEA 75 2 migE B
H 100m BHEf 75 Kokok TE X
[ 100m BHEf 75 Kook Kk E
(2 100m 2 70 1 fBIE FRIE
(2 100m EEA 70 2 1EH ik
H 100m BHEf 65 1 EH ER
5 100m BHEf 65 2 B N
E: 100m BHEf 65 3 AR %
(2 100m EEA 65 4 G IEE
E: 100m BHEf 65 5 NI EE
(2 100m EESA 65 6 =F Az
b1 100m EEA 65 Kokok ZR #
(2 100m L2 60 1 EO A
5 100m BHEf 60 2 INRRERE
(2 100m EESA 60 3 =8 KE
EZ 100m BB 60 4 AH EA
5 100m BHEf 60 5 A
(2 100m B/ 60 6 28 &R
E: 100m BHEf 55 1 AR IEE
H 100m BHEf 55 2 AL
E: 100m BB 55 3 e
(2 100m EESA 55 4 FiE |
(2 100m B/ 55 5 WT F=
H 100m BHEf 55 6 By FEE
(2 100m EESA 55 7 &5 BX
[ 100m EE2 55 8 FE BE
(2 100m EESA 55 9 & KIE
[T 100m L2 55 10 X5 @
H 100m BHEf 55 11 WA =/\HE
H 100m BHEf 50 1 fRE &
E: 100m BHEf 50 2 WE F—
H 100m BHEf 50 3 ¥E kX
H 100m BHEf 50 4 #o87 SER
H 100m BHEf 50 5 JICE  BIIRE
H 100m BHEf 50 6 FAR _BF
H 100m BHEf 50 7 =2 Zif
H 100m BHEf 50 8 TR 8F
(2 100m EEA 50 9 FE E5E
H 100m BHEf 50 10 N EES
5 100m BHEf 45 1 mE 3
(2 100m EESA 45 2 XX A=
5 100m BHEf 45 3 -
(2 100m EEA 45 4 AIFF SEA
(2 100m EEA 45 5 Tk Bl
H 100m BHEf 45 6 ®_EET
H 100m BHEf 45 7 BA &
(2 100m EEA 45 8 K —F
H 100m BHEf 45 9 AH Fi
(2 100m B/ 45 10 e ES
H 100m BHEf 45 11 FHH HER
H 100m BHEf 45 12 W e
H 100m BHEf 45 13 INER BA
H 100m BHEf 45 14 =28 EA
H 100m BHEf 45 15 JEH B
(2 100m EESA 45 16 EHE B2
(2 100m EESA 45 17 shER  E%if
E: 100m BB 45 18 oH Eif




(2 100m EEA 45 Kokok ME #=
[ 100m BB 45 Kopok RE {Z—
(2 100m EEA 40 1 WR Sk
(2 100m EESA 40 2 fHiE 4
(2 100m L2 40 3 fHF Rl
H 100m BHEf 40 4 FER &
(2 100m EESA 40 5 = B
H 100m BHEf 40 6 ZFA #X
H 100m BHEf 40 7 BRE 5
H 100m BHE# 40 8 a5 Ro
(2 100m B/ 40 9 piA EE
H 100m BHEf 40 10 BgEF —BF
(2 100m EESA 40 11 BRIF EAUf
(2 100m EESA 40 12 Tk BUE
H 100m EEA 40 13 KEF EX
A 100m B R 40 ook IMNE BT
H 100m BHEf 40 Kokok $H X
(2 100m L2 35 1 o
(2 100m EESA 35 2 By ¥t
E: 100m BHEf 35 3 W 1FiE
(2 100m EEA 35 4 EE BE—
(2 100m EEA 35 5 TR 8
(2 100m EESA 35 6 £ 85—
H 100m BHEf 35 7 B E—
(2 100m EEA 35 8 B B
(2 100m EESA 35 9 Fig EH
H 100m BHEf 35 10 AN BE
E: 100m BB 35 11 WE [E4
(2 100m 2 35 12 BEA Ea
H 100m BHEf 35 13 Bl ik
H 100m BHEf 35 14 £ &E
(2 100m EEA 35 15 NITHEE:
(2 100m B/ 35 16 HA &
(2 100m EEA 35 17 HF FOE
H 100m BHEf 35 18 EiEED
H 100m BHEf 35 19 By FE
(2 100m EESA 35 20 Bl %5
E: 100m BHEf 35 KoKk INH RX
E: 100m BHEf 35 *okk WE EF
E: 100m B R 30 1 mlil ®A
(2 100m L2 30 2 fiE EE
5 100m BHEf 30 3 Ll BE
5 100m BHEf 30 4 AH FE
5 100m BHEf 30 5 R
(2 100m EEA 30 6 B R
[T 100m L2 30 7 e %
5 100m BHEf 30 8 i O N i
5 100m BHEf 30 9 WE 8=




HZF100mE k=

T4 5l EE B i
% it %E*E? cl7a5ss JIlE 42 _ K4 [iai]
% 100m k= 75 1 L nt ALY
Z_|__100m TE 70 : . T4
% 100m k= 70 1 ne Bt T
z 190m HAE 10 2 Ee_:m _EE% 2:07.08
% 100m EkE 65 ; ZH I8 o
= 120 IS, 85 1 A BF 1:44.78
% 100m k= 65 : AL o o
= 100m s o2 3 WH £K=E 2:04.91
= 100m ke 55 *4 A8 BT 3.14.24
i 100m EikE 60 *1* Eﬂ% ig o
T HikKe =; 7] 1:32.68
= 100m =:i=j§§§ gg 2 Mﬁ H#tF 1:47.96
" 100m AT 60 3 11% 5HDOF 2:03.58
= 100m ke 50 4 SH E¥ 20514
z 190m R 0 5 _JHEP =FF 2:05.21
= 190m s %0 6 FE## EKF 2:37.12
% 100m k= 55 1 g oI oot
= 100m ke 55 2 I &F 2:00.00
= 100m ke 55 3 mE BF 2:04.95
= 100m 2z o *4 %?Y BF 2:05.12
s 100m EikE 50 7 we AxT =1
= 190m nrz o0 1 JI#E HEY 1:34.05
= 100m ke 20 2 EF'EJI HoC 1:34.86
% 100m k= 50 ; £ A e
% 100m EkE 50 : ax i o
% 100m k= 50 : 25 A0 B
% 100m k= 50 : B e T
% 100m k= 50 : B e
z 100m HAE 20 8 = H nULF 2:02.81
s 100m EikE 45 = ﬁrg;ﬁ jﬁ% =1
Z 100m k= 45 1 28 21 T
% 100m k= 45 : L o= 2Ll
= 100m ke 45 3 BE KT 1:31.53
% 100m k= 45 : SR 5T o ae
" 100m A 3 5 ik HmkdF 1:33.35
" 100m A 4 6 /inﬁa i ==E3 1:53.40
s 100m EikE 40 = JE J’Eﬁ =1
= 100m i 40 1 FhL EF 1.21.25
% 100m EkE 40 : g o o
% 100m k= 40 ; -2 B2 e
% 100m k= 40 : e e
s 100m EikE 35 = B 21 =1
= 100m i 35 i FH ERF 1:30.93
& 100m EkE 35 *2 L of P
s 100m EikE 30 7 ol BrEH
% 100m EikE 30 1 Al B T
= 100m 2z 2 mz:# BEF 1:36.40
; 30 3 ik BE 2:21.65




BF100m¥Eik¥E

[EF] i i

o R T o

Z 100 AL s 1 & #Bx 2:16.73
H 100m EikE 70 =7 uﬂi 5 i
z 190m HAE 10 1 EE]Q = 1:32.92
F 100m A= 65 : e s L 630
7 100 CEES o5 1 T = 1:46.20
Z 100m EEE o9 2 FR K 1:47.36
5 | 100m TikE 65 ; T “5h
H 100m EikE 60 =7 ‘* = i
Z 100m CEE 50 1 RE EE 1:20.88
F 100m EAE 60 3 P T
z 100m s 60 3 1EEE X 1:29.58
z 100m A 50 4 R 8 2:55.57
z 100m ez 28 1 ﬁﬁz; A 1:35.22
F 100m EAE 55 ; D 3928
L 100m HAZ 2 3 WE - 1:37.26
7 100 CEES o8 4 LA 1EBA 1:42.90
z 100m ez o8 5 F_ A 2:13.90
Z 100m AL 50 1 punas R 1:19.55
L 100m HAZ o0 2 A P/ 1:19.57
L 100m HAZ o0 3 hngE ‘ - 1:24.04
F 100m EAE 50 : o i
F 100m EAE 45 > A osol
Z 100m s 45 1 W 5 1:08.00
7 100 CEES 4 2 +HE gm 1:31.04
7 100 CEES 48 3 & RN 1:33.83
L 100m HAZ 4 4 ;;%# ﬁg 1:34.27
= oo Has 3 5 pA I 1:38.67
Z 100m s 40 1 B & 1:10.16
z 100m 2z 40 2 Sakal B&%‘f 1:15.99
z 100m 2z 10 3 ~7|<$\T A 1:17.62
7 100 CEES 40 4 be% #15& 1:24.22
Z 100m EEE 3 1 5l iR 1:11.31
7 100 CEES 38 2 ﬁﬁ?k BEA 1:12.23
L 100m HAZ 3 3 ?1’“ B&% 1:13.80
7 100 CEES 38 4 TR IEFR 1:24.44
F 100m A= 30 ; e BT
7 100 CEES 0 2 XHl Bz 1:16.34
F 100m EAE 30 2 #ﬁi EHf” e
: 100m EkE 30 5 DET 15;22




HZF100mExKE

T4 5l EE B EH class JIE iz K4 RF i

S 100m ikE 75 1 EH HEF 2:52.50
S 100m EkE 75 2 Bk HBF 3:52.93
£ 100m EikE 70 1 KEF BF 1:58.72
£ 100m EkE 70 2 ZH BF 2:10.14
ES 100m EkE 70 *okk k% EF ZIE
ES 100m FikE 65 1 Ak BTF 1:53.00
ES 100m EkE 65 2 tkik 1EF 1:54.74
s 100m PkE 65 3 AR #HF 2:00.07
£ 100m EkE 65 4 HZE EF 2:05.23
s 100m PkE 65 5 A EEhE 2:11.48
£ 100m EikE 65 6 dtt ET 2:53.95
ES 100m ikE 60 1 MHE BXF 1:57.05
£ 100m EkE 60 2 BE BF 1:59.59
s 100m PkE 60 3 N T 2:04.37
£ 100m EkE 60 4 ANHE BE¥F 2:06.41
£ 100m EkE 60 *kok S ZIE
£ 100m FikE 55 1 B8H BK 1:44.68
£ 100m EkE 55 2 =R BF 1:47.70
£ 100m EkE 55 3 A 2LF 1:52.93
£ 100m EkE 55 4 &% BF 1:53.05
£ 100m EkE 55 5 XA AhHY 2:00.76
£ 100m EkE 55 6 KAl HiF 2:07.43
£ 100m EkE 55 7 F¥ FPH 2:14.12
£ 100m ikE 50 1 HE HF 1:50.55
£ 100m EkE 50 2 WA %78 1:51.03
£ 100m EkE 50 3 ah EREF 1:52.17
s 100m PkE 50 4 MR _E&F 1:58.73
£ 100m FkE 50 5 R RF 2:00.22
£ 100m EkE 50 6 ik E5F 2:04.28
£ 100m FikE 45 1 H = 1:32.83
£ 100m EkE 45 2 RO BF 1:34.53
£ 100m EkE 45 3 HEY HEF 1:42.52
£ 100m EkE 45 4 MH #XF 1:42.54
s 100m PkE 45 5 =L ME 1:48.62
ES 100m EkE 45 6 2m IN\EF 1:50.72
£ 100m EkE 45 7 AL EF 1:58.48
£ 100m FkE 45 8 oH BS 2:01.59
£ 100m EkE 45 9 HHE t8F 2:02.76
£ 100m EkE 45 10 falER =2 F 2:13.85
£ 100m EkE 45 11 BRE X&E 2:14.58
£ 100m FikE 40 1 L i 1:43.81
ES 100m EkE 40 2 %5 ARF 1:49.58
ES 100m EkE 40 3 e BF 1:52.52
s 100m PkE 40 4 =25 =EF 1:52.80
£ 100m EkE 40 5 iR BB 1:53.37
S 100m EkE 40 6 hE EF 1:56.59
s 100m PkE 35 1 =22 AE 1:33.34
£ 100m EkE 35 2 HEE HPF 1:42.19
£ 100m FkE 35 3 2E TE 1:48.17
£ 100m EkE 35 4 RE k& 2:03.78
£ 100m EkE 35 KoKk Rt =F ZIE
£ 100m FikE 30 1 il RE 1:33.70




BF100mEkE

T Rl 0 Bt EH class JIIE 152 K4 RF i

E: 100m ikE 80 1 Hf = 3:54.73
H 100m FkE 75 1 ENT 1:52.23
H 100m PkE 75 2 =al s 1:53.15
E: 100m EkE 75 3 ik FiEk 1:54.40
E: 100m EkE 75 4 EE = 2:05.98
E: 100m EkE 75 5 HH =& 2:11.70
2 100m PkE 75 6 =% 2:15.28
E: 100m FikE 70 1 AR EZ 1:37.75
E: 100m EkE 70 2 EE Eif 1:38.55
E: 100m EkE 70 3 A PN 1:49.45
E: 100m EkE 70 4 £l Jtah 1:58.20
E: 100m ikE 65 1 =)l A+t 1:34.78
E: 100m EkE 65 2 FigE E—Ef 1:42.15
E: 100m EkE 65 3 A EL5H 1:43.19
E: 100m PkE 65 4 X% £8 1:45.96
5 100m PkE 65 5 B/ X 1:49.52
E: 100m EkE 65 6 e &R 2:02.55
E: 100m EkE 65 7 ZH IEH 2:09.38
5 100m EkE 65 Kokok Nk Fr ZIE
E: 100m ikE 60 1 HE B— 1:34.24
2 100m PkE 60 2 Bl RX 1:36.85
E: 100m EkE 60 3 Hik /DIRK 1:39.97
E: 100m EkE 60 4 . Ba 1:49.45
E: 100m ikE 55 1 55 K 1:38.96
H 100m PkE 55 2 oH EE 1:40.71
E: 100m EkE 55 3 NG FEB 1:49.28
E: 100m EkE 55 4 = B 1:51.70
(2 100m PkE 55 otk B KE ZiE
H 100m FkE 55 koK IANK B8 ZHE
E: 100m FikE 50 1 Hp KF 1:21.10
E: 100m EkE 50 2 2@ EE 1:24.90
E: 100m EkE 50 3 = =5 1:26.73
E: 100m EkE 50 4 =8 BA 1:34.49
E: 100m EkE 50 5 =2H B 1:34.90
E: 100m PEkE 50 6 PR —E 1:36.20
E: 100m EkE 50 7 JEN B 1:37.67
E: 100m FkE 50 8 Bl EF] 1:38.44
E: 100m EkE 50 9 EH EH 1:39.49
E: 100m FikE 45 1 & F08 1:14.85
E: 100m EkE 45 2 . ELC 1:15.38
E: 100m EkE 45 3 AR ME 1:27.20
E: 100m EkE 45 4 =ik Alf 1:29.05
(2 100m TokE 45 5 SH BE 1:32.51
E: 100m FEkE 45 6 ik E5 1:33.45
E: 100m EkE 45 7 WH SE 1:38.04
E: 100m EkE 45 8 e BE 1:39.95
E: 100m EkE 45 9 ERK FIEk 1:46.29
E: 100m FikE 45 Kokk N ZIE
5 100m PEkE 40 1 g Fig 1:14.44
E: 100m EkE 40 2 =% EHR 1:20.89
E: 100m EkE 40 3 Hd #£5F 1:21.65
E: 100m EkE 40 4 falE HH 1:21.86
E: 100m PEkE 40 5 B B 1:22.20
E: 100m EkE 40 6 BH XA 1:22.39
E: 100m FikE 40 7 Tk WA 1:25.20
E: 100m EkE 40 8 ZE HE 1:26.99
H 100m EkE 40 9 Ke Hi 1:29.48
E: 100m EkE 40 10 e HeR 1:30.36
E: 100m EkE 40 11 W EE 1:30.50
E: 100m EkE 40 12 HE EF— 1:31.49




E: 100m EkE 40 13 #ME Rl 1:33.28
E: 100m EkE 40 14 KE —If 1:34.01
E: 100m EkE 35 1 ZR7 BX 1:16.04
E: 100m EkE 35 2 Rix H— 1:17.36
E: 100m EkE 35 3 MHE £ 1:22.60
E: 100m EkE 35 4 BE #z 1:23.54
E: 100m EkE 35 5 K/l IEE 1:26.38
E: 100m EkE 35 6 EEEIES 1:29.62
E: 100m EkE 35 7 HWE Bt 1:31.79
E: 100m EkE 35 8 gk BA 1:39.55
E: 100m EkE 35 9 /L BF 2:59.07
E: 100m EkE 30 1 #HL 55 1:12.78
E: 100m EkE 30 2 AR 1:23.12
E: 100m EkE 30 3 M FE 1:23.51
E: 100m EkE 30 4 Ll BE 1:24.09
E: 100m PkE 30 5 N 1:31.15
[ 100m FikE 30 Kokok EiF ISt ZHE




ZF100m/\ 3754

T4 5l EE B EH class JIE iz K4 RF i

s 100m INRDSA 70 1 EEH AL 2:15.01
S 100m NS4 65 1 B INEF 2:07.81
£ 100m NS4 60 1 AR EEF 1:51.38
£ 100m NS4 55 1 FIE BEF 2:04.30
s 100m INRTSA 55 2 AGRHE HOF 2:14.55
ES 100m NS4 55 3 RE RF 2:17.36
s 100m INRDSA 50 1 REE 1:39.91
ES 100m NS4 50 2 £k BEH5F 1:54.24
£ 100m NS4 50 3 B INEF 1:57.05
£ 100m NS4 50 4 Tk EF 1:59.10
£ 100m NS4 50 ook 3 FEF ZIE
s 100m INRDSA 50 Kook =8 BE ZiE
£ 100m NS4 45 1 BR BF 1:25.50
s 100m INRDSA 45 2 ER FF 1:36.01
£ 100m NS4 45 3 2E I\EF 1:52.72
£ 100m NS4 40 1 KA HEEF 1:27.44
s 100m INRDSA 40 2 H EF 1:32.36
£ 100m NS4 40 3 hE ETF 2:00.72
s 100m INRDSA 35 1 =¥ EF 1:33.84




BF100m/\3754

T Rl 0 Bt EH class JIIE 152 K4 RF i

E: 100m NS4 75 1 ZE EA 3:13.97
H 100m INRDSA 75 *okok KA _FOfE ZiE
E: 100m NS4 70 2 R & 2:22.51
E: 100m NS4 70 1 kg 57 1:40.95
E: 100m NS4 65 1 EER FE 1:31.96
E: 100m INRTSA 65 2 E ERKAE 1:54.10
[ 100m INETS5A 65 Kokok ZH i ZHE
E: 100m INETS5A 65 Kokok KRG 24 ZHE
E: 100m NS4 60 1 INRRERRE 1:23.43
E: 100m INRTSA 60 2 He & 1:59.90
5 100m INRDSA 55 1 xE 5 1:10.04
E: 100m NS4 55 2 WE E— 1:39.10
E: 100m NS4 55 3 E _#A 2:08.51
E: 100m NS4 50 1 BAR _ET 1:10.99
E: 100m NS4 50 2 fnfE BEHA 1:18.55
5 100m NS4 50 3 tHAT FOH 1:19.46
5 100m INRDSA 50 4 FAR _EF 1:38.07
5 100m NS4 50 Kook B8 IhX ZiE
(2 100m INRDSA 50 Aotk miE B ZiE
E: 100m INRTSA 45 1 HE X 1:16.46
E: 100m NS4 45 2 Al 1:24.43
E: 100m NS4 45 3 # =B 1:32.66
E: 100m NS4 45 4 28 B 1:35.54
E: 100m INRTSA 45 5 oH E 1:49.59
E: 100m NS4 40 1 #is BE 1:17.16
E: 100m NS4 40 2 fAE FE 1:44.46
H 100m INRDSA 35 1 it B2 1:00.84
E: 100m NS4 35 2 i BEE 1:11.70
E: 100m NS4 35 3 EH R 1:12.93
E: 100m NS4 35 4 EEE m4&E 1:13.71
E: 100m INRTSA 35 5 wEr 8 1:17.50
H 100m INRDSA 35 6 M 1:17.75
E: 100m NS4 35 7 NI} 1:29.39
E: 100m NS4 35 8 FA #&# 1:41.04
E: 100m NS4 35 9 INDGE 1:43.25
b1 100m NG54 35 KoKk g 0 EE
5 100m NS4 35 KKk /L B RPEE
H 100m NS4 30 1 N 1:05.96
E: 100m INRTSA 30 2 R E— 1:16.18
E: 100m INRTSA 30 3 AH AKX 1:18.82




ZF50mB B

T4 5l 0 Bt EH class JIlE 42 K4 [iai]
ES 50m BB 80 1 EIR BF 1:15.02
S 50m BHEf 80 KoKk Ak & ZHE
£ 50m BHEf 75 1 ABE BEF 41.87
ES 50m BB 75 2 K BF 47.16
ES 50m BH# 75 3 BhFFIF 49.61
ES 50m BHEf 75 4 KBEEF 49.91
ES 50m BHEf 75 5 Fik =F 51.36
ES 50m BHEf 75 6 ER ERF 59.43
% 50m BHEf 75 *okk Fik ECF ZHE
£ 50m BHEf 70 1 Wi &+ 38.37
£ 50m EEA 70 2 8l EF 40.70
ES 50m BB 70 3 H=E FF 41.16
£ 50m BHEf 70 4 EH =F 41.48
ES 50m BB 70 5 o % 41.92
£ 50m EESA 70 6 ¥ B2R 43.17
£ 50m BHEf 70 7 FiE EF 44.15
s 50m EESA 70 8 ZH EXF 48.23
£ 50m EESA 70 9 R FEF 49.26
ES 50m BB 70 10 28 F 54.91
ES 50m BB 70 11 I EEF 1:00.44
S 50m EESA 70 KoKk XiF BF ZHE
S 50m BHEf 70 *okk FigE £T ZHE
S 50m BHEf 70 Kokok 1k EF ZHE
£ 50m BHEf 65 1 ¥H B 35.09
E:S 50m BH* 65 2 Bl V5F 40.97
ES 50m BB 65 3 o #F 41.81
ES 50m BB 65 4 gl BF 42.73
E:S 50m BB 65 5 ZR YT 42.97
£ 50m BHEf 65 6 e EF 4552
£ 50m BB 65 7 wa 9=+ 4559
£ 50m EESA 65 8 £H BT 48.50
s 50m EEA 65 9 FL BE 48.72
£ 50m EEA 65 10 =H HF 49.08
s 50m EEA 65 11 EEESEES 52.42
ES 50m BB 65 12 BRIl FF 58.12
ES 50m BB 65 13 & HF 58.79
ES 50m BH* 65 14 B8H RF 59.51
£ 50m BHEf 65 15 BAX E& 59.77
ES 50m BH# 65 16 INe BEF 1:01.08
£ 50m BHEf 65 17 Wik AF 1:01.59
£ 50m BHEf 65 KoKk N IKiEER
S 50m BHEf 65 KoKk K BF ZHE
Z 50m B R 65 Kofok B BHE EIE
£ 50m BHEf 60 1 WE WF 40.35
£ 50m EESA 60 2 Tk BF 40.63
ES 50m BH* 60 3 WiE HhT 42.07
E=S 50m BH# 60 4 RE L=F 42.55
£ 50m EESA 60 5 AGRH #£F 44.16
£ 50m EEA 60 6 Heh &+ 46.17
£ 50m BHEf 60 7 ik A 47.10
£ 50m BB 60 8 = FF 50.52
s 50m EEEL2 60 9 BEE BT 53.37
£ 50m BHEf 60 10 FWl EEF 53.73
£ 50m EESA 55 1 BH JEF 36.87
£ 50m EEA 55 2 T LV OHF 37.82
£ 50m BHEf 55 3 BIM HE 38.81
ES 50m BB 55 4 =H HRF 39.12
ES 50m BB 55 5 21U FMF 39.53
S 50m B/ 55 6 N FHE 39.59
£ 50m BHEf 55 7 WA AEF 40.23




s 50m EEA 55 8 INE BhE
£ 50m BHEf 55 9 EE ADF
£ 50m BHEf 55 10 FiE FimF
ES 50m BHEf 55 11 A ITHE
s 50m EEA 55 12 O 85F
£ 50m BHEf 55 13 HEXE 5F
s 50m EEA 55 14 =g FIE
£ 50m BHEf 55 15 FEFERPH
£ 50m BHEf 55 16 3 EF
ES 50m BB 55 17 INE BiF
ES 50m BHEf 55 18 EE EF
ES 50m BHEf 55 19 fEHh EiEF
£ 50m BHEf 55 *okk R HPOF
£ 50m L2 55 koK Eif R
s 50m EEA 50 1 RiZ BEHK
£ 50m BHEf 50 2 18 =F
s 50m EESA 50 3 TR REF
Z 50m BB 50 4 HER BEEF
ES 50m BB 50 5 XH HF
s 50m EESA 50 6 K¥ HF
£ 50m BHEf 50 7 F #HF
s 50m EEA 50 8 JIGE EF
£ 50m BHEf 50 9 BEH ERF
s 50m EESA 50 10 h#HE EF
£ 50m BHEf 50 11 =8 BF
s 50m EESA 50 12 aH BEF
£ 50m BHEf 50 13 AN 2R
£ 50m BHEf 50 14 R BF
E:S 50m BH# 50 15 KiF =FHK
£ 50m BHEf 50 16 HEE mEF
s 50m EESA 50 17 R RF
ES 50m BHEf 50 18 HH 82&
s 50m EEA 50 19 WA XF
s 50m EEA 50 20 BT EF
£ 50m BHEf 50 Aotk K HEEF
£ 50m BHEf 50 *okk WH LVDOH
oS 50m B R 50 Kofok NS IHF
s 50m EEA 45 1 Bk ThE
£ 50m BHEf 45 2 B8 EF
ES 50m BH* 45 3 ik HmkdF
ES 50m BB 45 4 =H KF
ES 50m BHEf 45 5 HEF
S 50m BHEf 45 6 f2iE HF
£ 50m BHEf 45 7 KE #HEY
£ 50m BHEf 45 8 H® UOEH
£ 50m BHEf 45 9 /R FIF
£ 50m BHEf 45 10 Ff B5F
£ 50m BHEf 45 11 mE BiEF
£ 50m BHEf 45 12 BTE FH
s 50m B/ 45 13 BAR FE
s 50m EESA 45 14 i Bh3E
s 50m EESA 45 14 =L ME
s 50m EESA 45 16 AR BIF
ES 50m BHEf 45 17 B 8

s 50m EESA 45 18 8 THF
ES 50m BHEf 45 19 BHF AF
s 50m B/ 45 20 RRER FEX
s 50m B/ 45 21 INE R
s 50m B/ 45 22 hiE EF
s 50m B/ 45 23 FE SHE
£ 50m BHEf 45 24 FH &=
£ 50m BHEf 45 25 i =%




s 50m EEA 45 REF APE
£ 50m BHEf 45 ¥ OEF
ES 50m BB 45 ffE BF
s 50m EESA 40 B EE
£ 50m BHEf 40 gl F
£ 50m BHEf 40 KfA EBF
Z 50m BB 40 HE EF
s 50m EEA 40 IR IEE
s 50m EEA 40 NS T
s 50m EEA 40 FE BEF
s 50m B/ 40 e B=E
s 50m EESA 40 =25 EF
£ 50m BHEf 40 o &#E
S 50m BHEf 40 RE HSF
ES 50m BHEf 35 1 T #K
s 50m EESA 35 2 K HEE
ES 50m BHEf 35 3 mE EREF
£ 50m BHEf 35 4 a5 EBEF
s 50m EESA 35 5 Al 51
£ 50m BHEf 35 6 X WF
s 50m EEA 35 7 JnfE IR
£ 50m BHEf 35 8 AWl &
S 50m BHEf 35 Hokok WE T&
oS 50m B R 30 1 Frl N L
£ 50m BHEf 30 2 fEH #F
=z 50m HHE 30 3 Al HE
£ 50m BHEf 30 4 Ak BHE
s 50m EESA 30 5 B BF
s 50m 2 30 6 EH BX
s 50m EESA 30 7 g BE
£ 50m BHEf 30 8 HE A
ES 50m BHEf 30 9 k% =8
s 50m EEA 30 BHE &F
£ 50m BHEf 30 E &
£ 50m BHEf 30 ik BT
£ 50m BHEf 30 EH F%X
£ 50m BHEf 30 JILF #8500




BF50mBREF

T Rl 0 Bt EH class JIIE 152 K4 RF i
E: 50m BB 80 1 =im FI% 39.65
5 50m BHEf 80 2 mx &Eif 43.62
2 50m BHEf 80 3 RE FA 45.38
E: 50m EEA 80 4 1EH E— 56.04
E: 50m BB 80 5 AR IERE 59.17
& 50m B R 80 6 Wil FE 1:03.15
[ 50m BHEf 80 7 RE 5 1:21.68
E: 50m BB 75 1 Bl & 35.62
5 50m BHEf 75 2 R Rl 37.19
5 50m BHEf 75 3 B RE 39.21
5 50m EEA 75 4 iS5 BEnE 43.13
5 50m BHEf 75 5 K& KRB 44.13
5 50m BHEf 75 6 2R —4% 44.90
E: 50m BB 75 7 Hib Bt 50.02
E: 50m BHEf 75 KoKk KK _iFE ZHE
5 50m EEA 75 *okok = ZIE
[ 50m BHEf 70 1 FRIE  FRIE 34.26
5 50m BHEf 70 2 5 S 36.61
5 50m BHEf 70 3 Mg X 37.87
[ 50m BHEf 70 4 WH #x 38.54
5 50m BHEf 70 5 ey S 38.62
5 50m BHEf 70 6 S0 F 39.78
5 50m BHEf 70 7 INE HHEH 40.43
[ 50m EESA 70 8 Xii A% 42.33
E: 50m EEA 70 9 == 42.34
E: 50m 2 70 10 HE K— 43.44
E: 50m EESA 70 11 INR BB 43.57
E: 50m BHEf 70 12 INE —2 44.45
5 50m BHEf 70 13 XE B2 4547
5 50m EESA 65 1 MT _BEE 31.42
5 50m BHEf 65 2 EH ER 31.66
5 50m BHEf 65 3 B A 31.90
[ 50m BHEf 65 4 AR % 32.91
[ 50m BHEf 65 5 Fik &3 33.83
E: 50m BB 65 6 £H SF5h 35.16
E: 50m BH* 65 7 =F A2 35.40
E: 50m EEA 65 8 G IEE 35.60
H 50m EEA 65 9 RER %= 35.67
[ 50m BHEf 65 10 INLUA EE 36.12
[ 50m EEA 65 11 KE ERA 36.24
[ 50m EEA 65 12 =8 —# 37.08
[ 50m EEA 65 13 WE —HR 42.69
[ 50m BHEf 65 14 e &R 43.30
E: 50m BB 65 15 ZAhHJIl Bh 50.54
5 50m BHEf 65 *okok MR B2 71 ARE—F
E: 50m EESA 65 KoKk TF BE ZHE
5 50m BHEf 65 *okok KH B 71 ARE—F
H 50m EEA 65 ook = EE ZiE
5 50m BHEf 60 1 EO fE 31.88
E: 50m EESA 60 2 =28 KE 34.27
E: 50m BB 60 3 AEH EA 34.52
5 50m BHEf 60 4 =ik AL=EF 34.68
E: 50m BB 60 5 20 B 35.48
[ 50m BHEf 60 6 EH Bi 36.10
5 50m BHEf 60 7 0% i 36.81
[ 50m BHEf 60 8 2 FE— 37.66
E: 50m BB 60 9 NS BT 38.07
5 50m BHEf 60 10 BRE =it 39.97
2 50m B/ 60 11 HE BEER 49.35
[ 50m EESA 55 1 AR FE 29.95




E: 50m BHEf 55 TIPS
E: 50m BB 55 e
E: 50m BHEf 55 HE —%
H 50m EESA 55 WA F
(2 50m 2 55 FE EE
E: 50m BHEf 55 4By L
H 50m EEA 55 &5 BX
E: 50m BHEf 55 IMEFA
E: 50m BHEf 55 28 EX
H 50m EEA 55 ARER EEX
E: 50m B/ 55 hf BX
H 50m EESA 55 Bg X3
H 50m EEA 55 X W
E: 50m BHEf 55 WA =/\H
H 50m EEA 55 /AR FX
H 50m EESA 55 KB BX
E: 50m BHEf 55 A 1FX
E: 50m BHEf 50 fRE &
5 50m BHEf 50 WE F—
E: 50m BHEf 50 EOJEm
E: 50m BHEf 50 TE kX
H 50m EEA 50 IR BB
E: 50m BHEf 50 WHe F—
E: 50m BHEf 50 ® 18
E: 50m BB 50 HE T
2 50m EESA 50 TR BE
E: 50m BHEf 50 FE) pEn
E: 50m BHEf 50 mE i
H 50m EEA 50 = P
E: 50m BHEf 50 JICE BIJRE
E: 50m BHEf 50 g _EE
E: 50m BB 50 =2 Zif
E: 50m BHEf 50 T B
H 50m EEA 50 TEX &

H 50m EEA 50 FEk B
E: 50m BHEf 50 WA F—
E: 50m BB 50 EO KR
E: 50m BHEf 50 N EES
5 50m EEA 50 BHEE Mz
E: 50m BHEf 50 BRX —&
5 50m BHEf 50 FE T
E: 50m BHEf 50 KA B
E: 50m BHEf 50 EfF E—
5 50m B/ 50 EB &
5 50m EESA 50 ¥ KR
5 50m EESA 50 ME {E2
5 50m EESA 50 BER #X
E: 50m BHEf 50 BE RA
5 50m EESA 50 INR FHE
5 50m B/ 45 XX A=
E: 50m BHEf 45 mE 3
E: 50m BHEf 45 ®_EET
E: 50m BHEf 45 ¥z
5 50m B/ 45 TR Ba
E: 50m BHEf 45 AIAF SEEA
E: 50m BB 45 RE -—
H 50m B/ 45 INGR ESE
E: 50m BHEf 45 Bl #Z
E: 50m BHEf 45 BA 1B
H 50m B/ 45 ok HARR
E: 50m BHEf 45 BB IEA
E: 50m BHEf 45 Wik EF0




E: 50m BHEf 45 INE]R BA
H 50m EEA 45 Tk —%F
E: 50m BHEf 45 P =&
5 50m BHEf 45 1&552 HA
E: 50m BHEf 45 =28 EA
E: 50m BHEf 45 N
E: 50m BHEf 45 EHE 82
E: 50m BHEf 45 EH B
H 50m EEA 45 ¥ FF
5 50m EEE2 45 INA E&
H 50m B/ 45 A+ B
E: 50m BHEf 45 WH FE=HE
H 50m EESA 45 shER  E%if
H 50m EESA 45 kg XE
H 50m EEA 45 WH %73
E: 50m BB 40 FiE R
H 50m EESA 40 R .—Jr‘
H 50m EEA 40 ¥ A
& 50m B R 40 EH Z
H 50m EEA 40 fmHF Rl
E: 50m BHEf 40 FER &
E: 50m EEA 40 2l &
E: 50m BHEf 40 ZFH ®X
H 50m EESA 40 T IEFE
E: 50m BHEf 40 EH R
5 50m EESA 40 EFE IE—
E: 50m BHEf 40 AXHZE 85X
E: 50m BHEf 40 BEF —Bf
E: 50m BHEf 40 REF F®F
E: 50m BHEf 40 E =
H 50m EESA 40 AiE E&
E: 50m EEA 40 G —1
E: 50m EEA 40 WE #H—
E: 50m BHEf 40 EAR ER
H 50m EEA 40 EH OIET
H 50m EEA 40 T Eak
E: 50m BB 40 Bl —k
H 50m EEA 40 Wi FA
5 50m EEA 40 ZH ZEER
E: 50m EESA 40 BRIF A
5 50m EEA 40 AR B
5 50m EEA 40 Ka FHE
5 50m EESA 40 B SURER
E: 50m EESA 40 A FH
E: 50m BHEf 40 KEF EX
E: 50m BHEf 40 KE —If
5 50m EESA 40 A EHih
E: 50m BHEf 40 $H X
5 50m EEA 40 £H &
E: 50m BHEf 35 fE B
5 50m EESA 35 Fig =
5 50m EESA 35 =2 EE
E: 50m BH* 35 KiFl —ih
E: 50m BHEf 35 5B #
5 50m EESA 35 TR A8
E: 50m BHEf 35 HE E—
E: 50m BHEf 35 B E—

E: 50m BB 35 ol
E: 50m BHEf 35 KE EL
E: 50m BHEf 35 XER R4
[ 50m BHEf 35 INR &S
H 50m B/ 35 TR IR




E: 50m BHEf 35 14 Xt B
E: 50m BB 35 15 WE [E4
H 50m EEA 35 16 AEH #X
E: 50m BHEf 35 17 EE AIB
H 50m EEA 35 18 o XKE
H 50m EESA 35 19 Al BE
E: 50m BHEf 35 20 XN BE
H 50m EEA 35 21 FE &8
E: 50m BHEf 35 22 £ EE
E: 50m BHE# 35 23 HIE {EF
H 50m B/ 35 24 ¥ B
E: 50m BHEf 35 25 AR 8T
H 50m EESA 35 26 IME FE
E: 50m BB 35 27 AE E—
H 50m EEA 35 28 Bl ik
E: 50m BHEf 35 29 EiEEWD
E: 50m BHEf 35 30 #HE A
H 50m L2 35 31 ok Fl—
E: 50m EESA 35 32 HF FOE
H 50m EEA 35 33 HA &
E: 50m BHEf 35 34 NG
2 50m EEA 35 35 FR 5F
E: 50m BHEf 35 36 HE EX
E: 50m BHEf 35 37 8 HX
H 50m EEA 35 37 ;H B
E: 50m BHEf 35 39 A M=
H 50m EESA 35 40 HFRILUEST
E: 50m BHER 35 41 TUNLZY Yan-=
E: 50m EESA 35 KoKk INEH RX
E: 50m EEA 35 ook F{E %1%
E: 50m BHEf 35 *okok ZH EiE
E: 50m BHEf 35 Kok MR EF
H 50m EEA 35 KoKk H#/0 F&
E: 50m BB 30 1 i [N
E: 50m BHEf 30 2 fly 2
E: 50m BHEf 30 3 iE EE
5 50m BHEf 30 4 KHET IEfE
[ 50m BHEf 30 5 t&F LE
E: 50m BHEf 30 6 AH FE
(2 50m 2 30 7 e ¥
E: 50m BHEf 30 8 i 0 N 2P
5 50m EESA 30 9 B R
E: 50m BHEf 30 10 PN
5 50m EESA 30 11 WE =
E: 50m BHEf 30 11 2H a3




ZF50mE kE

T4 Al i i
% EEEE %i%]?? clggs JIIE 152 /\EE% RF i
X 0 HAZ 20 1 EéJII BF 1:12.31
X 50m ez 50 2 ;i.ﬁﬁ IEAI% 1:35.15
s 50m EikE 80 e B 2=
s 50m EikE 75 = E# E i
X 0 HAZ 1 1 B A_fF 55.42
s 50m EikE 75 : M?E %”? = s
X S0m 2z 15 3 AT Hi¥F 1:03.16
X S0m EEE s 4 EF‘*i_ F3IF 1:05.38
X S0m s 10 1 ik BEF 48.55
Z 50m EAE 70 3 Lh BL S
= 20m A 10 3 1?1 ?#% 53.41
X S0m s 10 4 HE ;i} 57.09
X 50m s 10 5 ;%:EE FEF 59.56
£ 50m EikE 70 : = ?% %
X S0m s 10 7 lﬂ__:r f—i‘%il 1:17.93
X 50m ez 10 *8 it L%E% 1:21.72
" 20m HAE 10 *k FigE £T ZIE
Z 50m A= 65 1 LE 2 ios7
X S0m CEE o9 2 Kk _#BF 46.87
X 50m 2z 9 3 Jl_ﬂ%} foF 50.69
%z 50m A= 65 : Stk 253
X S0m 2z 69 5 EE 5% F 54.82
= 20m A 8 6 ;%EE HFT 55.95
= S0m CEE o5 7 Atk B 1:00.55
X 0 HAZ o2 8 #ﬁ/ﬁ\a 2F 1:02.65
z 20m A 85 9 Eﬁ‘ér“hﬁ%? 1:11.64
X 0 HAZ o2 *10 hﬁ: E 1:15.01
= oo BAs o2 Fok pui| ¥=) FHEF J#IVARG—b
X 0 HAZ o0 1 =d 3R 41.28
X S0m EEE 50 2 EEE# BEF 44.99
%z 50m A= 60 ; s T
Z 50m A= 60 : A 1973
Z 50m A= 60 : xR s Saa1
Z 50m A= 60 : A T
= 20m AT 50 7 ﬁiﬂai HDOF 57.11
X 0 HAZ 2 1 tbﬁﬂas JIEF 46.97
X 50m 2z 2% 2 £H ﬁzu% 52.13
s 50m EikE 55 ; ﬂ“ BL 2
X S0m EEE 58 4 HEE 5F 53.17
s 50m EikE 55 : =0 == e
X 0 HAZ 2 6 mﬁ@ E=F 55.46
s 50m EikE 55 : %%7 Bt 2 e
X 50m 2z 28 8 =ik sk 59.57
Z 50m EAE 50 ? o af e
= S0 CEES 50 1 X;Je EF 39.82
X 50m 2z 20 2 {ﬁzls EJE 42.55
X S0m AL 50 3 BH  th 43.99
%z 50m A= 50 : r LT ieo8
X 0 HAZ o0 5 ;;ﬁ ¥ 45.88
&z 50m A= 50 : s 00
X 50m 2z 20 7 ﬂlgn[s N H 48.85
= S0m EEE 50 8 E]f HEF 49.12
= S0m EEE 50 9 m.:.EE B¥ 49.22
= 0 CEES 50 10 alE REF 49.32
X S0m 2z 20 11 HR 2% 49 .48
Z 50m EAE 50 E i Soct
Z 50m EAE 50 7 e BE 3ot
= S0 CEES 50 *14 aftEE RF 1:03.96
= 20m HA Kk NEg BF ZIE
i 50 *okk Flll HD2 ZIE




Z 50m k=
I L R R B 3509
X S0m AL 4 2 i% EX 39.09
Z 50m EAE 45 ; T 205
% 50m EAE 45 : L TS
= 20m e 4 5 iEE EF 44.74
X 0 HAZ 4 6 =R {#HF 49.36
X 0 HAZ 4 7 INEH HBE 50.29
= S0 CEES 48 8 NGRS 50.40
X S0m CEE 4 9 TI=ES 50.88
X S0m CEE 4 10 ﬁf %‘.}%ﬁ% 51.12
s 50m EikE 45 e EE 2 43
s 50m EikE 40 =7 rI ’E% 1%
% 50m EAE 20 1 T 1250
Z 50m EAE 20 ; =2 0 irey
% 50m EAE 20 ; 4B ac iea
% 50m EAE 20 : a7 of o
X 50m 2z 10 5 ﬁnjs M 47.35
X S0m CEE 20 6 FiE BF 54.96
X S0m ez 40 7 /qJ:i& RF 1:05.97
s 50m EikE 35 =7 e E‘% 1%
X 0 HAZ 3 1 1Eik EF 39.63
= 20m A 3 2 _IE7|< mF 41.72
X 0 HAZ 3 3 &l Ei EKF 43.18
= S0 CEES 38 4 —-r—Egv' "&b 43.41
X S0m CEE 3 5 #R* IS 44.83
= S0 LR 38 6 X ZHEF 50.94
X 0 HAZ 3 7 RE s 59.15
s 50m EikE 30 =7 e 1
X S0m EEE 20 1 IJ.EF BEF 40.38
X S0m CEE 20 2 il RE 41.77
% 50m EAE 30 ; LRl o
X 0 HAZ 4 B 9% 4452
IKE 30 Kokok EH F%X ZHE




%J%s]Om B kE

E B i i

B i T = al
7 S0 CEES g0 1 :,u 1IEB 55.64
L 0 HAZ 20 2 = 55.90
L 0 HAZ 50 3 Hf = 1:35.89
L 0 HAZ 1 1 EJIE! ?J’Z& 4548
L 0 HAZ 1 2 JEi5 BEIf 53.68
F 50m EAE 75 ; B Es 0T
Z S0m EEE s 4 & Bx 1:01.42
F 50m EAE 70 1 e 103
Z S0m EEE 10 2 #]BAR = 42.02
7 S0 CEES 10 3 R 1:00.42
F 50m EAE 70 : =5 T
Z S0m CEE 10 5 INR SR 1:22.44
F 50m EAE 65 ; Ao oo
F 50m EAE 65 ; 2E o5 S4
F 50m EAE 65 ; XD b= 25 1s
Z S0m CEE o9 4 BEE &A 55.18
L 0 HAZ o8 5 ]Mis 3?1 1:03.33
L 0 HAZ o2 6 EH B4R 1:07.28
z S0m 2z 9 7 ZAhHJIl Bh 1:17.92
5 | 50m THE T e -4
2 50m EikE 60 =7 ‘* = i
7 S0 CEES g0 1 RE EiE 35.76
Z S0m AL 50 2 _EEH 5 36.83
7 S0 CEES g0 3 EREIES 38.78
F 50m A= 60 : e ioa
F 50m A= 60 : g == 0Tor
7 S0 CEES g0 6 NG BT 1:01.92
Z S0m EEE 58 1 ik FIX 39.19
7 S0 CEES o8 2 WT F= 40.19
E: 50m EikE 55 ; * 2 Tos
z S0m 2z 2% 3 WA BEA 41.63
F 50m A= 55 : e Aot
Z S0m EEE 58 6 ﬁ?rnas = 44.21
7 S0 CEES 50 1 ik BRI 35.29
Z S0m EEE 50 2 IR AR 35.39
Z S0m AL 50 3 KIE {#A 36.56
Z S0m EEE 50 4 IR BB 37.27
Z S0m CEE 50 5 feHF B— 38.13
F 50m A= 50 : o St
Z S0m EEE 50 7 i 2 NP 13 38.53
7 S0 CEES 50 8 i &8 39.99
L 0 HAZ o0 9 g _EE 43.39
Z S0m EEE 50 10 YN B 4457
2 50m EikE 50 5 o8 iz 1990
Z S0 s 50 12 EOEF 49.90
7 S0 CEES 50 13 JI £ B&ﬁ 51.93
7 S0 CEES 48 1 WEF u% 30.75
L 0 HAZ 4 2 rtH FE& 35.58
7 S0 CEES 48 3 FHE Eth 39.69
B 50m A= 45 : 48 12 o
z S0m A ook o = ZiE
Z S0m Z‘ﬁ? 45 KoKk =H &= ZHE
Z S0m %‘:m? jg 1 Hi =B 32.34
F 50m EAE 20 : HE = 3400
7 S0 CEES 40 3 bt BE 34.02
F 50m EAE 20 : = o
Z S0m EEE 20 5 MR Fi— 43.48
F 50m EAE 35 : 55 B oo
L 0 HAZ 2 1 ,_j}f fl 30.51

j 5 2 BB RTE 31.02




% 50m HB 33,
g 50m ’:‘Zig gg ; LE An 5
g 50m EAE 35 : =8 = it
L 0 HAZ 2 5 HiZ a 34.24
2 50m EikE 30 = "‘%* o i
L 0 HAZ 30 1 a0 E’Eigﬂrs 31.09
L 0 HAZ 30 2 AL 33.36
I 50m EAE 30 ; L0 2 S3o1
z S0m ez 30 4 KK B 33.91
I 50m EAE 3 . S e
j 0 ook D AR ZHE




HF50mFEjKE

T4 5l EE B EH class JIE iz K4 RF i

S 50m EkE 80 1 8 BF 1:12.74
S 50m EkE 75 1 Fik =F 1:05.62
£ 50m EkE 75 2 Bk HBF 1:42.17
S 50m FkE 75 Hofok ES 25 ZHE
ES 50m EkE 70 1 KEF BF 53.25
ES 50m EkE 70 2 IME $BF 58.38
ES 50m EkE 70 3 AR mF 59.37
ES 50m EkE 70 4 BFE 4XF 59.40
£ 50m EkE 70 5 ZH BF 59.89
£ 50m EkE 70 6 FiE EF 1:03.48
£ 50m EkE 70 7 A At 1:19.78
S 50m FikE 70 Kokok B TR ZHE
£ 50m EkE 65 1 Ak BTF 50.25
£ 50m EkE 65 2 Bk THRF 52.45
£ 50m EkE 65 3 k& 1EF 53.42
£ 50m EkE 65 4 AR #HF 53.61
£ 50m EkE 65 5 HZE EF 54.09
s 50m PkE 65 6 A EEhE 59.59
£ 50m EkE 65 7 JI[G %2F 1:03.32
s 50m PkE 65 8 FL BE 1:07.55
£ 50m EkE 65 9 dtt FT 1:21.74
£ 50m EkE 60 1 MHE BXF 54.54
£ 50m EkE 60 2 WE HF 56.22
£ 50m EkE 60 3 BH EXKF 1:06.69
£ 50m EkE 60 *okk I EEES ZIE
£ 50m EkE 55 1 %# H#H’c 46.96
£ 50m EkE 55 2 =R BEF 49.26
£ 50m FkE 55 3 &% BF 49.38
s 50m EkE 55 4 MR AEF 51.39
£ 50m EkE 55 5 E=F BEEF 54.32
£ 50m EkE 55 6 XA HhHY 54.76
£ 50m EkE 55 7 &8I 4YT 55.35
£ 50m EkE 55 8 ARH HOF 55.74
£ 50m EkE 55 9 =H #&F 55.86
ES 50m EkE 55 10 HO 18 56.99
£ 50m EkE 55 11 £H EF 57.71
£ 50m FkE 55 12 kg EF-F 57.96
£ 50m EkE 55 13 E8Il B 58.60
£ 50m EkE 55 14 KAl HiF 59.03
S 50m FikE 55 Kook FEH BF ZHE
S 50m FikE 55 KoKk #Ha %%% ZHE
ES 50m EkE 50 1 Kig ER 43.77
ES 50m EkE 50 2 #HE ;&% 49.06
£ 50m FEkE 50 3 ah EREF 49.21
£ 50m EkE 50 4 WINEEX S 51.20
S 50m EkE 50 5 A8 ER 51.77
£ 50m EkE 50 6 ZH BEE 52.49
£ 50m EkE 50 7 g EF 57.88
£ 50m EkE 50 8 aH NUF 58.52
S 50m FikE 50 KooK AR #F ZIE
S 50m ikE 50 KoKk FiR EF ZHE
£ 50m FikE 45 1 H =& 42.14
£ 50m EkE 45 2 RO BF 42.87
£ 50m EkE 45 3 i ERE 43.70
£ 50m EkE 45 4 +H B 44.90
£ 50m EkE 45 5 #HEY HEF 45.06
ES 50m EkE 45 6 MH #HXF 46.37
S 50m EkE 45 7 AL EF 51.16
S 50m EkE 45 8 B HF 51.93
£ 50m EkE 45 9 ik B8 51.96




ES 50m EkE 45 10 A RE 53.27
£ 50m FikE 45 11 HHE t8F 54.57
£ 50m EkE 45 12 oH BS 55.96
ES 50m EkE 45 13 AH AIF 56.53
S 50m FikE 45 Kokok AT =& ZHE
£ 50m EkE 40 1 Mg RE 45.68
£ 50m EkE 40 2 A =K 46.01
£ 50m EkE 40 3 L i 46.66
£ 50m EkE 40 4 e BF 49.66
£ 50m EkE 40 5 %8 ERF 50.67
ES 50m EkE 40 6 gl FHR 51.85
ES 50m EkE 40 7 i ERF 53.88
s 50m PkE 40 8 ZH BEBE 1:00.87
S 50m EkE 35 1 EE HF 39.37
s 50m PkE 35 2 G HRPF 43.48
£ 50m EkE 35 3 Ki#l =25 44.00
ES 50m EkE 35 4 2E TE 46.66
£ 50m EkE 35 5 BR #F 46.76
£ 50m EkE 35 6 Al & 50.09
s 50m PkE 35 7 Tk BE 1:03.09
£ 50m EkE 35 *okok SNk ERas 71 ARG—F
S 50m ikE 35 Kokok hH HCH ZHE
s 50m FkE 35 ook =22 HE ZIE
£ 50m EkE 30 1 5 EF 38.10
£ 50m EkE 30 2 fEH #F 39.92
£ 50m EkE 30 3 g BE 52.43
£ 50m EkE 30 4 ik BT 55.82




BIF50mEHE

T Rl 0 Bt EH class JIIE 152 K4 RF i

: 50m EkE 75 1 ENT 48.41
(2 50m TokE 75 2 =al BB 49.77
2 50m EkE 75 3 B RE 50.42
2 50m EkE 75 4 EE = 57.63
: 50m EkE 75 5 HiH EF& 59.20
[ 50m EkE 75 6 = X 1:00.31
E: 50m EkE 70 1 EE Eif 44.54
[ 50m EkE 70 2 AR B 44.66
[ 50m EkE 70 3 WH #'Xx 47.38
5 50m EkE 70 4 BEKOIEE 51.41
[ 50m EkE 70 5 K = 52.26
[ 50m EkE 70 6 S0 F 55.40
[ 50m EkE 70 7 XE B2 1:01.35
[ 50m EkE 65 1 =)l A+t 40.65
[ 50m EkE 65 2 FigE E—Ef 44.45
E: 50m PkE 65 3 X5 Fl 45.31
[ 50m EkE 65 4 AR X 47.18
[ 50m EkE 65 5 WA X 47.30
[ 50m EkE 65 6 kA EL5H 4754
[ 50m EkE 65 7 hif BB 48.15
E 50m FikE 65 8 RKE #8X 48.58
5 50m EkE 65 9 fngE BEsh 49.43
[ 50m EkE 65 10 ZH IEH 1:00.47
[ 50m EkE 60 1 HE E— 41.55
E: 50m PkE 60 2 Bl RX 42.06
[ 50m EkE 60 3 Hik /DR 43.99
E: 50m FkE 60 4 ® BB 44.31
E: 50m FkE 60 5 20 1B 44.74
[ 50m EkE 60 6 . BaE 4752
[ 50m EkE 60 7 Il fE— 48.27
[ 50m EkE 60 8 HEE m— 54.26
E: 50m FikE 60 KoKk WT FE ZHE
E: 50m PkE 55 1 FE BE 40.59
[ 50m EkE 55 2 LA 42.00
[ 50m EkE 55 3 55 K 4255
[ 50m EkE 55 4 Hf & 43.45
2 50m FkE 55 5 HE —% 4497
E: 50m PkE 55 6 FH EE 45.91
[ 50m EkE 55 7 R =% 48.84
[ 50m EkE 55 8 = B 49.86
[ 50m EkE 55 9 ik XRIE 51.95
[ 50m EkE 55 10 Bk BX 54.88
5 50m PEkE 55 Aotk HH EH ZIE
5 50m PEkE 55 ook IANK EB ZIE
[ 50m EkE 50 1 =F =2 36.37
2 50m EkE 50 2 Hef X¥F 36.65
[ 50m TokE 50 3 EH EE 37.56
2 50m EkE 50 4 EfF E— 40.10
[ 50m FkE 50 5 28 41.64
[ 50m EkE 50 6 Bl g3 41.75
E: 50m PEkE 50 7 R —E 42.30
[ 50m EkE 50 8 WH F— 43.87
5 50m EkE 50 9 KE 5F 44.18
5 50m EkE 50 10 ZEHOE 4419
[ 50m EkE 50 11 BH EE 44.27
[ 50m EkE 50 12 HILE M2z 45.77
[ 50m EkE 50 13 ;2 46.22
[ 50m EkE 50 14 FE) pEh 46.89
[ 50m EkE 50 15 XA BX 47.15
[ 50m EkE 50 16 Fik B 49.50




2 50m EkE 50 17 EE F2 50.22
E: 50m FikE 50 Kokok FEEESIES ZHE
E: 50m FikE 50 Kook =5 HA ZHE
2 50m EkE 45 1 ®ELC 34.18
E: 50m PEkE 45 2 BT & 38.30
[ 50m EkE 45 3 AR AME 38.65
[ 50m EkE 45 4 =ik Alf 38.77
5 50m EkE 45 5 nil B 40.39
[ 50m EkE 45 6 EAN B 41.17
5 50m EkE 45 7 jngE ER 41.75
[ 50m EkE 45 8 WA =FE 42.39
E: 50m PkE 45 9 BRE BE 43.21
2 50m EkE 45 10 ik BA 43.40
[ 50m EkE 45 11 W FER 43.43
E: 50m EkE 45 12 H+E —BR 44.63
[ 50m EkE 45 13 SR IEST 4497
[ 50m EkE 45 14 WH =4 46.09
[ 50m EkE 45 15 ERK FIEk 46.98
[ 50m EkE 45 16 M A 47.02
2 50m EkE 45 17 A+ FF 47.73
[ 50m EkE 45 18 N IEE 47.82
2 50m EkE 45 19 B XE 50.87
5 50m EkE 45 Kokok JnEl R2Z ZIE
E: 50m FikE 45 Kokk N ZIE
2 50m FkE 40 1 g Fig 32.96
[ 50m EkE 40 2 =% EH 35.35
E: 50m ikE 40 3 Tk WA 36.14
2 50m EkE 40 4 BH XA 36.15
E: 50m PkE 40 5 B B 36.59
2 50m EkE 40 6 Hi #8 37.02
2 50m EkE 40 7 e =i 37.60
5 50m EkE 40 8 KE Hi 37.85
2 50m EkE 40 9 ZE B 38.14
2 50m EkE 40 10 #ME Rl 38.83
2 50m EkE 40 11 ik ESE 40.20
E: 50m PEkE 40 12 R —#8 40.41
[ 50m EkE 40 13 KE FE 43.60
E: 50m EkE 40 14 EEF SURER 45.60
2 50m EkE 40 15 R BAI 48.37
E; 50m FikE 40 Kokok =2H FA ZHE
E: 50m FkE 40 Aotk filER —% ZIE
E; 50m ikE 40 Kokok #HHEH E2 ZHE
E: 50m FikE 40 KoKk &z }— ZHE
[ 50m EkE 35 1 ZR7 BX 33.61
[ 50m EkE 35 2 Aix H— 34.04
2 50m EkE 35 3 FE = 34.75
2 50m EkE 35 4 AEH #X 36.37
[ 50m EkE 35 5 ==E: 36.64
[ 50m EkE 35 6 A {E8 36.96
[ 50m EkE 35 7 BfE E2 37.43
5 50m EkE 35 8 fiE Bt 38.44
[ 50m EkE 35 9 EB8I Z 39.09
[ 50m EkE 35 10 Bl IEE 39.11
[ 50m EkE 35 11 Al 39.58
[ 50m EkE 35 12 HiE & 39.86
5 50m EkE 35 13 BAR _HE 41.30
: 50m EkE 35 14 AEH E 42.89
2 50m PEkE 35 15 1k RBE 43.15
2 50m PEkE 35 16 FH BN 43.40
[ 50m EkE 35 17 WA ZRsh 43.58
[ 50m EkE 35 18 By FE 43.71
[ 50m EkE 35 19 gk BA 44.62




E: 50m EkE 35 20 A M 45.95
H 50m PkE 35 Aotk ZH EiE ZiE
E: 50m FikE 35 Kook LA B ZHE
H 50m PkE 30 1 BU 55 32.61
E: 50m EkE 30 2 ARE 54 36.31
[ 50m EkE 30 3 K &K 36.55
E: 50m EkE 30 4 Xe B 37.71
H 50m PEkE 30 5 N 39.59
E: 50m EkE 30 6 2H 3 46.00
E: 50m EkE 30 7 B E 47.98
E: 50m ikE 30 Kokok EiF ISt ZHE
E: 50m ikE 30 Kokok AR BEF ZIE
E: 50m FkE 30 ook AfH —#E ZiE




ZF50m/\ 2754

T4 5l EE B EH class JIE iz K4 RF i

E:S 50m INRTS5A 75 1 TH EF 1:01.63
£ 50m INRTSA 70 1 WH EAF 57.35
£ 50m INRDSA 70 2 E8)l BF 1:02.67
£ 50m INRDSA 70 3 IME $B8F 1:04.74
ES 50m NS4 70 4 28 F 1:07.14
S 50m INEDS5A 70 Kokok ZH EEF ZIE
% 50m N TS5 70 Kokok AH HRF ZiE
ES 50m INRTSA 65 1 W= FEF 45.21
£ 50m NS4 65 2 A BF 45.34
£ 50m NS4 65 3 gl BF 51.15
ES 50m INRTSA 65 4 W #F 53.88
E:S 50m INRTSA 65 5 =H RF 53.97
£ 50m INRTSA 65 6 A 4= 59.62
ES 50m INRTSA 60 1 KM &FF 41.62
£ 50m NS4 60 2 AR EEF 43.49
ES 50m INRTSA 60 3 EH B&F 51.28
Z 50m INRTSA 60 4 T &#DZ 53.86
s 50m INZTSA 60 5 N R 56.25
s 50m INRDSA 60 6 ®BEE BT 1:10.09
£ 50m INRDSA 60 7 fEBE AIF 1:12.92
S 50m INBTS5A 60 Kokok WA S EHE
E:S 50m INRTSA 55 1 tRE FiT 41,72
ES 50m INRTSA 55 2 HiE HDOF 4475
£ 50m INRDSA 55 3 I e 45.90
£ 50m INRDSA 55 4 B#E -hLF 49.67
£ 50m NS4 55 5 e 253 57.47
£ 50m NETS5A 50 1 =28 BF 44.90
s 50m INRTSA 50 2 Bk HEF 48.29
£ 50m NS4 50 3 R ES 49.67
=z 50m NI DS54 50 4 KR ZF 1:01.55
s 50m INRDSA 50 Kook xH BE ZiE
S 50m INBTS5A 50 Kokok Bl HIT= ZHE
£ 50m NS4 45 1 ol AE 38.03
£ 50m NS4 45 2 Xg #HEY 38.96
ES 50m INRDSA 45 3 B EF 42.24
£ 50m INRTSA 45 4 BRE ERF 42.64
£ 50m NS4 45 5 Bi BE 4283
£ 50m INRDSA 45 6 . FHEF 44.30
£ 50m NS4 45 7 K #EF 44.64
£ 50m INRDSA 45 8 A #p=E 56.98
s 50m INRTSA 40 1 RER =7 34.19
s 50m NS 40 2 HH EE 36.99
ES 50m NS4 40 3 KA HEEF 37.29
£ 50m NS4 40 4 BHE =H 38.12
ES 50m INRTSA 40 5 I 39.31
ES 50m INRTSA 40 6 BE EHR 40.35
£ 50m NS4 40 7 =lF JEF 41.32
E:S 50m INRTSA 40 8 T == 51.68
£ 50m INRDSA 35 1 ik H#X 34.48
£ 50m NS4 35 2 BR #F 35.54
£ 50m NS4 35 3 XE WF 35.95
ES 50m INRTSA 35 4 K ZHEF 48.11
£ 50m INRDSA 30 1 Al _fE 34.24
£ 50m INRDSA 30 2 AT _FER 34.83
E=S 50m INRTSA 30 3 mE FHK 35.93
E=S 50m INRTSA 30 4 ¥E & 49.79




BF50m/\2751

T Rl 0 Bt EH class JIIE 152 K4 RF i

: 50m NS4 80 1 =B IE# 1:12.49
E: 50m INRDSA 75 1 E@R —4% 58.70
E: 50m INRDSA 75 2 Hi @t 1:13.58
E: 50m NS4 75 Hokok ZE EA EZHE
H 50m INETS5A 75 KoKk KA F1E ZiE
E: 50m INBTS5A 75 Kokok TEH X e
E: 50m NS4 75 KoKk gk Tk ZiE
[ 50m NS4 70 1 £k B 38.71
2 50m INRDSA 70 2 A X 43.33
E: 50m NS4 70 Hofok INe HHES EHE
[ 50m NS4 65 1 T EE 33.72
E: 50m INRDSA 65 2 BEE FE 34.76
[ 50m NS4 65 3 Fig &FB 37.40
E: 50m INRDSA 65 4 £ M sFah 48.50
[ 50m NS4 65 5 8 A 50.03
5 50m INETS5A 65 KKK ZH EFig i3
5 50m NS4 65 Kokok Rig fa ZiE
2 50m INRDSA 60 1 WT FE 32.88
E: 50m NS4 60 2 0% I 44.10
[ 50m NS4 60 3 Figk (L=B8 45.64
E 50m INRTSA 60 4 Rl Eif 50.57
2 50m INRDSA 55 1 X5 T 30.05
[ 50m NS4 55 2 TIPS 33.99
2 50m INRDSA 55 3 %k IE= 35.07
E: 50m INBTS5A 55 Kokok MHE 1EX EHE
H 50m INETS5A 55 KKK JIE& i EHE
E: 50m INRDSA 50 1 20 F= 31.05
5 50m NS4 50 2 BAR _ET 31.93
E: 50m INRDSA 50 3 tHAT FOH 32.08
[ 50m NS4 50 4 #587 SER 32.79
[ 50m NS4 50 5 KIE A 33.35
[ 50m NS4 50 6 SNk BEHA 34.36
E: 50m INRTSA 50 7 HE T 34.95
[ 50m NS4 50 8 mE i 37.23
E: 50m INRDSA 50 9 KN E) 39.99
E: 50m INRTSA 50 10 A EE 53.68
H 50m NS4 50 Kook INR FHE ZiE
2 50m NS4 45 1 B8 SFE 28.58
E: 50m INRDSA 45 2 HE X 31.82
2 50m INRDSA 45 3 gk MR 33.52
E: 50m INRTSA 45 4 A 36.19
E: 50m NS 45 5 SH = 36.40
[ 50m NS4 45 6 B TE 36.64
E: 50m INRDSA 45 7 B =% 40.32
2 50m INRDSA 40 1 g & 28.95
E: 50m NZT5A4 40 2 2H & 29.57
E: 50m INRDSA 40 3 BEE = 29.70
E: 50m INRDSA 40 4 ®E EZ 31.08
[ 50m NS4 40 5 B R 32.41
[ 50m NS4 40 6 #is B 33.30
[ 50m NS4 40 7 i EE 34.06
E: 50m INRTSA 40 8 BE H— 34.21
[ 50m NS4 40 9 REF ®F 35.93
E: 50m INRTSA 40 10 fFE F— 37.13
E: 50m INRTSA 40 11 INZE BT 42 .47
E: 50m INETS5A 40 Hokok Pk IE 3
E: 50m INBTS5A 40 Kook B ER ZHE
E: 50m INRDSA 35 1 it B2 26.99
2 50m INRDSA 35 2 =HF Rl 28.20
[ 50m INRTSA 35 3 BB RTE 28.99




2 50m INRDSA 35 4 XxHE EA 29.28
2 50m NS4 35 5 fFE B 30.06
2 50m NS4 35 6 INE S 30.14
2 50m NS4 35 7 5H # 30.73
2 50m NS4 35 8 EE H— 30.76
[ 50m NS4 35 9 B E— 31.02
[ 50m INETS5A 35 10 =B EE 31.12
E: 50m INRTSA 35 11 EXNINA: 31.45
[ 50m NS4 35 12 wEr 8B 31.58
[ 50m NS4 35 12 HiE XKE 31.58
[ 50m NS4 35 14 EH R 31.67
E: 50m INRTSA 35 15 LWEH IFtE 33.49
E: 50m INRDSA 35 16 Bk E¥$ 36.06
E: 50m INRTSA 35 17 Xt Efn 36.57
E: 50m N TS5 35 18 EH OEX 41.35
[ 50m NS4 35 19 FA ## 42.40
H 50m NS4 35 KKk IME FE ZIE
E: 50m INRTSA 30 1 IR E— 31.18
[ 50m NS4 30 2 KEF @K 32.37
8 50m INRTSA 30 3 AL il 33.30
E: 50m INRTSA 30 4 Bl #;1B 35.34
2 50m NS4 30 5 il FE 37.67
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